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PART A: Grammar

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then, mark the
correct choice on your answer sheet.

72 1- You can skip around within a section, so answer the questions that are easiest for you, ......... the more
difficult questions for the end.

1) by saving 2) saving 3) it saves 4) save
72 2- While Marion Park is still the largest park, it is no longer as popular as .........

1) it was once 2) once was 3) once was it 4) was once
72 3- Coffee seems to be one of the world’s biggest and most enduring passions, as coffee houses continue to
pOop Up On every corner, ......... beans from multiple exotic and sometimes completely unfamiliar locations.

1) each one sports 2) sporting each one

3) each one sporting 4) in each one of which it sports
B’ 4- ..., of metal, this mechanism is approximately the size of a shoebox.

1) To be made 2) Having made 3) Made 4) Been made
72 5- The process by which a hostile or unsuitable environment is transformed into ....... is called
terraforming.

1) sustaining one that human life 2) one that can sustain human life

3) that of one to sustain human’s life 4) that one is sustained by humans’ life

72 6- In the case of humans, when a person becomes infected and the resistant bacteria set up home in the
gut, the sufferer has two choices: .........

1) you should look for help or stay at home 2) whether look for help or stay at home

3) looking for help or stay at home 4) look for help or stay at home
2. 7- Regularly taking part in a demanding and potentially dangerous activity leads to enhanced physical
conditioning, ......... speed of thought and reaction time.

1) which improve 2) which it improves

3) as well as improved 4) in addition to improve

2. 8- In 1900, this area had a combination of residential and industrial features, but by 1935 the industrial

features ......... :
1) had disappeared 2) would disappear 3) to have disappeared 4) was disappearing

PART B: Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then, mark the
correct choice on your answer sheet.

= 9-The ......... of a second row of houses on Bayley Street and the removal of the railway line made room
for a spacious park and children’s play area.
1) deficiency 2) demarcation 3) deterrence 4) demolition

72 10- The coach knows the sport inside out, and we treat her with the respect she ......... .
1) exposes 2) deserves 3) diffuses 4) reminds
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72 11- The virus remains ......... in nerve tissue until activated.

1) innate 2) harmful 3) dormant 4) diverse
72 12- In order to cut costs, my boss has asked me to eliminate all positions that are not ......... to day-to-day
operations.

1) indispensable 2) indeterminate 3) incompatible 4) indiscriminate
72 13- In Hank’s family, the genetic factors of ......... must be strong because most of the members live to be
over ninety years of age.

1) prosperity 2) longevity 3) perception 4) anticipation
7. 14- The amount of air coming from the vents is ......... and not nearly enough to cool the room.

1) exceptional 2) terrestrial 3) momentous 4) negligible
72 15- The cup warmer will allow your beverage to ......... its temperature for at least an hour.

1) retain 2) reverse 3) rotate 4) regress
72 16- Glenn’s lack of ......... of the guitar is what caused his audience to leave the recital during the
intermission.

1) impact 2) reception 3) mastery 4) performance
72 17- The newspaper’s crossword puzzles are definitely .......... , although they get harder as the week goes
on, and Saturday’s puzzle is a real brainteaser.

1) flexible 2) soluble 3) tangible 4) demanding
72 18- It is rumored that dogs have a great ......... for cats, yet Lois’s two dogs and three cats get along
famously.

1) compromise 2) antipathy 3) consequence 4) hesitation
72 19- Given how hot it had been all day, someone was bound to ......... the idea of going swimming.

1) provoke 2) apply 3) confirm 4) broach

8. 20- Because the scientist knew his solution was not evident, he tried to offer his investors a .........

alternative so they would continue to fund his research.
1) derivative 2) plausible 3) customary 4) puzzling

PART C: Reading Comprehension
Directions: Read the following two passages and decide which choice (1), (2), (3), or (4) best answers each
guestion. Then mark the correct choice on your answer sheet.

PASSAGE 1:

The most basic definition of work is “energy and effort expended in performance of a task.” Essentially, all jobs
and tasks require you to spend energy and effort in some form, be it physical or mental. But even at this crude and
simple level, work has an appreciable effect on the brain that can, and probably does, make us happier. Copious
evidence shows the more physically active you are, the better your brain works. Makes sense; the brain, a
biological organ, needs energy and nutrients (more than other organs). Increased physical activity strengthens and
improves the heart, reduces fat and cholesterol, speeds up metabolism, all of which improves the supply of blood
and nutrients to the brain, increasing its ability to do ... anything, really.

Physical activity seems to have an even more “direct” effect on the brain, by increasing output of Brain Derived
Neurotrophic Factor, BDNF, a protein that stimulates growth and production of new brain cells. This could
explain the many reported neurological benefits of physical activity, such as enhancing learning ability and
memory, increased hippocampal volume and higher levels of gray matter throughout the brain. Studies also
suggest that children who engage in more physical, sporting activity often do better on academic tests.
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PART A: Grammar
Directions: Select the answer choice (1), (2), (3), or (4) that best completes the blank. Then mark the correct
choice on your answer sheet.

72 1- The passage attempts to describe a new theory of spiral-galaxy structure and contrast it with one of ... .

1) accepted theories the most widely 2) theories accepted the most widely
3) theories the most widely accepted 4) the most widely accepted theories
72 2- The new business produced greater profits than ......... a workweek longer than five days.
1) those required businesses with 2) it was for businesses that required
3) did businesses requiring 4) businesses did require
72 3- The triglycerides are removed from the VLDL’s by fatty and other tissues. ......... that must be
eliminated from the blood.
1) A remnant particle is what remains 2) What remains is a remnant particle
3) What remains of a remnant particle 4) A remnant particle of what remains is
72, 4- Hardy was to some degree interested in exploring his characters’ psychologies, though ......... less by

curiosity than by sympathy.
1) to impel 2) impels 3) impelled 4) impelling

72 5- Only after several inadequate breaths under such conditions, resulting in the considerable elevation of
carbon dioxide and reduction of oxygen in the blood, ......... .

1) which adjusts is breathing effort 2) is breathing effort adjusted

3) adjusting breathing effort 4) breathing effort is adjusted
72 6- When experimental populations are set up under simple laboratory conditions, the predator often
exterminates its prey and then becomes extinct itself, ......... .

1) while having nothing be left to be eaten 2) and having nothing left for eating

3) by having left nothing to eat 4) having nothing left to eat
72 7- The clock provided the punctuation marks for group activity, while enabling individuals to order
their own work (and that of others) ......... to enhance productivity.

1) so as 2) such that 3) how 4) as if
72 8- Historically, more cold-adapted antelope species originating in Eurasia have migrated into Africa,
where the climate is generally warmer, ......... have warm-adapted African species into Eurasia.

1) as much as 2) than 3) form which 4) and then

PART B: Vocabulary
Directions: Select the answer choice (1), (2), (3), or (4) that best completes the blank. Then mark the correct
choice on your answer sheet.

72 9- Wendy first tried to ......... from the task of telling her parents about the car accident, but she finally
got the courage and told them.

1) derive 2) conceal 3) reject 4) shrink
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72 10- Isn’t it a pity that this beautiful edifice is going to be ......... ?
1) demolished 2) retracted 3) precluded 4) distorted
72 11- Choosing a career is a matter that calls for ......... , but I haven’t yet given enough thought.
1) solitude 2) autonomy 3) reflection 4) stability
T2 12- We e kept Glenda off the planning committee because we didn’t want her to know that the
party was to be in her honor.
1) implicitly 2) randomly 3) genuinely 4) deliberately
72 13- The lives of thousands of birds are in ......... as a result of the oil spillage.
1) vain 2) jeopardy 3) advance 4) shortage
72 14- Because a waterfall is sO ......... , people can sit and watch it for hours.
1) sensible 2) elusive 3) captivating 4) unexceptional
72 15- Your mining enterprise is just in its ......... stage; wait for its successful outcome when it is fully
fledged.
1) rudimentary 2) unobtainable 3) resourceful 4) inevitable
72 16- If you do not ......... your scientific theories with facts, the members of the scientific community will

disregard all your ideas.
1) withstand 2) quantify 3) substantiate 4) compromise

2. 17- The work is considered too subjective and fanciful, the great fault of the author being that he lacks

the ......... of objective historical insight.
1) demerit 2) eccentricity 3) deviation 4) impartiality
72 18- Poverty levels used to be of great concern, but in recent years governments have, to a large ......... R
neglected the problem.
1) level 2) basis 3) range 4) extent
72 19- The trial collapsed when it became clear that the main witness for the prosecution was not . .........
1) credible 2) feasible 3) compliant 4) tendentious
72 20- Alex and Paula are always ......... attention; | have to be very careful to devote equal time to them

both if I don’t want to be accused of favoritism.
1) shrinking from 2) vying for 3) suffering from 4) reneging on

PART C: Reading Comprehension
Directions: Read the following two passages and select the choice (1), (2), (3), or (4) that best answers each
question. Then mark the correct choice on your answer sheet.

PASSAGE 1:

In every interview I’m asked what’s the most important quality a novelist has to have. It’s pretty obvious: talent.
No matter how much enthusiasm and effort you put into writing, if you totally lack literary talent you can forget
about being a novelist. This is more of a pre- requisite than a necessary quality. If you don’t have any fuel, even the
best car won’t run.

The problem with talent, though, is that in most cases the person involved can’t control its amount or quality ... .
Talent has a mind of its own and wells up when it wants to, and once it dries up, that’s it. Of course, certain poets
whose genius went out in a blaze of glory—people like Schubert and Mozart, whose dramatic early deaths turned
them into legends—have a certain appeal, but for the vast majority of us this isn’t the model we follow.
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Shrink from something: to avoid doing something difficult or unpleasant
Example: The leadership too often shrinks from hard decisions.
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in jeopardy: in danger of being lost or harmed
Example: The killings could put / place the whole peace process in jeopardy.
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